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QUESTION 1

You are troubleshooting LDAP cluster integration.

What could you use to verify that the cluster can communicate with the configured LDAP server?
A. tcpdump

B. dcpromo

C.isisync

D. isi job

Correct Answer: A

QUESTION 2

Which protocol is available for uploading logs from the web administration interface?
A FTP

B. SMB

C. SCP

D. NDMP

Correct Answer: A

QUESTION 3

Which job requires a license?
A. QuotaScan

B. SetProtectPlus

C. Upgrade

D. MultiScan

Correct Answer: A

QUESTION 4

You run the command "isi get -DD /ifs/data/foo.txt" on a 4 node cluster. The displayed results indicate a protection level
of 6+2/2. What statement best describes 6+2/27?
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A. Protection level of N+2:1; Contains 6 data stripes units and 2 FEC stripe units; Written to 2 drives per node
B. Protection level of N+2:1; Contains 8 data stripe units and 2 FEC stripe units; Written to 2 drives per node
C. Protection level of N+2: Contains 8 data stripe units and 2 FEC stripe units; Written to 1 drive per node

D. Protection level of N+1: Contains 6 data stripe units and 1 FEC stripe unit; Written to 1 drive per node

Correct Answer: A

QUESTION 5

On which node that has external network access does the master isi_celog_coalescer service run?
A. The node with the lowest LNN

B. The first node that receives an event

C. The node with the highest LNN

D. Any random node in the cluster

Correct Answer: A
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